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Math worksheet on 'Slope - Find Perpendicular -
Slope Y Intercept Form to Standard Form (Level 1)".
Part of a broader unit on 'Slopes and Perpendiculars
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2 What line equation in standard 'Q b

form would have a slope that is
PERPENDICULARtothe —3z+1ly=31lz+3y=29

slope of this line equation?

c d
1 152+ 1y =36z + 2y = 6

4 What line equation in standard form would
have a slope that is PERPENDICULAR to the
slope of this line equation?

y=1lx +1

a 1z +1ly=1 b 2z + 2y = 2
C  05z+1ly=1 d 2z 12y=2
6 Whatline equation in standard 'Q b

form would have a slope that is
PERPENDICULAR to the
slope of this line equation?

—b5x+ 1y =55z + 2y =10

c d
10z + 2y = 10 0.4z + 2y = 10

P
= —x
I~ 5
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1 What line equation in standard @ b

form would have a slope that is
PERPENDICULAR tothe 2z + ly = 4 12z + 3y = 12

slope of this line equation?

c d
0.75z + 3y = 12 —12z + 3y = 12

~ e
Y= 4@

3 What line equation in standard form would
have a slope that is PERPENDICULAR to the
slope of this line equation?

a -15z +3y =3 b 6z +3y =3
c 2zt ly=1 d 242y =2
5

What line equation in standard
form would have a slope that is
PERPENDICULAR to the
slope of this line equation?

Yy =bxr + 2

203z + 3y = 3.6 0.6+ 3y—3.6
152+ 3y =36 %062+ 3y=236

7 What line equation in standard form would
have a slope that is PERPENDICULAR to the
slope of this line equation?

y=-b5xr+b

a 0.2z +2y =2 b —0.4x +2y =2

C  06z+3y=3 d _15:13y=3

Math learning portal. Enrichment classes. Tutoring. Math games to engage kids. (mobiusmathclub.com)


https://app.mobius.academy/math/units/line_equations_and_perpendiculars_practice/
https://www.mobiusmathclub.com/
https://www.mobiusmathclub.com/

